= N AN N a .
ALHAE  (BAERHMREAL G =)
e (BB ET) 53, 240, 000H
1 A PRSI MRS T T (B ER<) 54, 390, 000/
(THE TR FAEVEMRE (BB 2R 48, 110, 000H
2 @@ B o T ERE T FLYES A 183. 8573
3 A L B K Sf 3410H 7H 1 0HE0 04y FERE AT (Y ) 100
(2%5) LR TEMBICE END L
BRI T S 2 148, 405 | (RS
. B + fi Ll L STATE B A AL A B FFAM A . . o
oA Gany Tm e | ® /E?j S, . /(z-;z gz LRI
A PR ’ VS V. Yt B i . : YEST AT i
A A ) (W2 1) B) &M (B) (HA7: 1) ®) B ®)
SRR TE () 100 | 57.6000 157.6000 50,500,000/  312.0792 @)
(¥R) HA47—" 100 | 46.5000 146.5000 54,000,000  271.2962 O
RIEEHE (BR) 100 | 60.0000 160.0000 52,000,000/  307.6923 O
B)) NIPPO 100 | 57.9000 157.9000 48,400,000 326.2396 O AL
HAER (F) e
IXEERTE ) — — — 54,820,000

FREAFIL. ALEDARE D > R LEEED 1 1 045D 1 0 0IZHYTHEEHTH D,
B« BIES IR (TUE SRR AR — 52— (AMLEAOE SRR — ) 1248H)




~N—= 1/1

KA RHEEAL T IR 2R R R O TAHFHE R ORI ERMERARE (B TARIHERRE)

| T F 4 AaM3FEE mMESNEEETLSE <r@1ﬁ&ﬁsw@<m>>| | FMEAARGEA) 0 115 BEMEA (A 304

FAFERHZ IR : M 3FE9 A1 4R

meoB R L AR R A A
TR
R T BRI
P o
' AT Z Ol Al @ el T
B T2 2 A T SR PR - TR B I I L I s T
S it = , [TMIEN TN PSRRI
No. k E A i - %] % sl w | 1] 1| & | o= o e b | | B ]| s
. - c 17 AR s - N N § o - N N 1T i GRlilSe) = :
&) 3 I - - | = g i ¥ ok " i s | c c TS e i o | 2 P A ATl 5
& g |z i | 4 ik R W ga | b | L1 | o1 | A i N e S » :
c g Tt | A [l o= o LIS N BN ol o |7 gt Ml | g & | e | ® 4 7N 5] A B | e
THEL g | R R L A e N I i I i | it | @ z
Pl g i O B RN E 2 - LN o e I i = v el i b s ! | %R (A+B)
SRS SR R I A IO oS I N A BT ) ol B I 17350 I ISl ISl B R ¥
Bl CF AN T IR A i | . Cip R IR I I ) :
x B » gL ziak LA SO I I I L R
W v : e » e G L| &
@ ff ol w | o T W
5 L 10 1 30 45 | 10 {30 1 5 | 10 i 10 30] 65 5 5 | 10 5 | 15 30
|| REETE ) 5 010 20 35 [ 10f 250 5 [ 10} 71 057 0 0 | s7 92 27.6 15 | 15 | 30.0 57.6
2 | W) HAT— b 05 i10 1511052 4f 0| 10f 01} 0|40 0 0 | 40 55 16.5 15 | 15 | 30.0 16.5
3 [KEEMEE (b 5 0 10 § 30 510258 3 | 0i 70|55 0 0o | 55 100 30.0 15 | 15 | 300 60.0
RIEEFE (BR)
4 | ) NIPPO 5 0 10 | 25 0| 10i25i 3 |1w0fs5 0|5 0 0 | 53 93 27.9 15 | 15 | 30.0 57.9
5 [AAER () e
6 |Ir=mBTE () srehmsen|
7
8
9
10
11
12




